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1 次の逆元を求めよ. ただし mod nにおいて逆元は 0, 1, . . . , n− 1の中から選ぶこと.

(1) 8−1 mod 13

(2) 14−1 mod 21

(3) 25−1 mod 37

(4) 28−1 mod 53

(5) 34−1 mod 81

(6) 128−1 mod 133

2 次の１次合同方程式を解け.

(1) 7x ≡ 1 mod 9

(2) 9x ≡ 7 mod 13

(3) 13x ≡ 3 mod 27

(4) 32x ≡ 13 mod 45

(5) 25x ≡ 9 mod 37

(6) 64x ≡ 22 mod 91

3 次の１次合同方程式を解け.

(1) 2x ≡ 5 mod 4

(2) 9x ≡ 4 mod 15

(3) 8x ≡ 6 mod 10

(4) 21x ≡ 15 mod 33

(5) 27x ≡ 18 mod 45

(6) 105x ≡ 7 mod 133

0略解： 1 (1) 5 (2) 逆元なし (3) 3 (4) 36 (5) 31 (6) 53

2 (1) x ≡ 4 mod 9 (2) x ≡ 8 mod 13 (3) x ≡ 21 mod 27 (4) x ≡ 44 mod 45 (5) x ≡ 27 mod 37 (6)
x ≡ 43 mod 91

3 (1) 解無し (2) 解無し (3) x ≡ 2, 7 mod 10 (4) x ≡ 7, 18, 29 mod 33 (5) x ≡ 4, 9, 14, 19, 24, 29, 34, 39, 44 mod 45
(6) x ≡ 14, 33, 52, 71, 90, 109, 128 mod 133
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